MATH 102 – Beginning Algebra I

Formulas and Problem Solving 

Accompanies Section 1.8








Name 

1. Your friend is spending spring quarter on a Study Abroad trip to Western Europe.  He reported that the high temperature in Paris on April 4 was 
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Celsius.  Did Paris have a warm spring day?  Change 
[image: image2.wmf]25

°

Celsius to degrees Fahrenheit using the equation 
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, where C is the degrees Celsius to find out. 

2. It is 470 miles from Oklahoma City, Oklahoma to Memphis, Tennessee.  Find how long it takes to drive round trip if the average speed is 65 mph.  Round to the nearest minute.  (Hint:  solve the equation d = rt for t)

3. A package of vinyl floor tiles contains 45 one-foot square tiles.  Find how many packages should be bought to cover the rectangular floor of an outlet store that is 120 feet by 90 feet.

4. Find the volume of a ball with radius 6 inches.  Use the formula 
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 and round to the nearest whole.  Use the 
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 key on your calculator.

5. Jordan wants to collect rainwater in a cylindrical barrel that has a diameter of 3 feet and height of 5 feet. How much water can it hold in cubic feet?  Use the formula 
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 and round to two decimal places.  Use the 
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key on your calculator.

6. Jonna would like to have $30,000 saved for her daughter’s college education.  If she invests $10,000 in an account paying 8% interest compounded quarterly, will she reach her goal in 15 years? Use the formula 
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.  Compute A using the calculator and avoid all rounding except for the final answer.

7. The surface area A of a right circular cylinder is given by the formula 
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 where r is the radius of the circular base and h is the height of the cylinder.  

a. What is the surface area of a right circular cylinder if the radius is 2.7 inches and the height is 5.83 inches?  Round to two decimal places.  Use the 
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key on your calculator.

b. Solve the formula for h.  Show all work.

Problem 7, continued

c. Use the answer from part (b) to answer this question.  What is the height of a right circular cylinder if its surface area is 2858.85 square centimeters and its radius is 13 centimeters?

8. The final grade in your psychology class is determined by the formula 
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, where a, b, and c are your test grades and d is your final exam grade, which counts as two tests.  

a. Suppose you wish to calculate what grade you need to make on the final examination to earn a particular grade (A, B, C, etc.)  Solve the formula for d, the final exam grade.

b. Use the results of part (a) to find the score you must make on the final examination in order to have a B (80) for the quarter if your test scores are 85, 92, and 72.  Round to the nearest whole.

9. Your final grade in MATH 102 is found using the equation 
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, where A is your out-of-class assignment average, Q is your quiz average, T is your test average, and F is your final exam score.

a. Find your final grade in MATH 102 if your out-of-class assignment is 88, your quiz average is 77, your test average is 78 and your final exam score is 71.  Round to the nearest whole number.

Problem 9, continued

b. Solve the equation 
[image: image13.wmf].10.20.30.40

GAQTF

=+++

 for F, your final exam score. 

c. Use the results of part (b) to determine the score you must make on the final exam to earn a B (80) if your out-of-class assignment average is 82, your quiz average is 75, and your test average is 78.  Round to the nearest tenth of a point.

10. Solve each equation for the specified variable.

a.
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b.
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 for h.

c.
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11. A homework problem asks you to solve 3x – 2y = 11 for y.  Your answer is 
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.  You check the answer in the back of the book and it says 
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.  Is your answer wrong?  Explain.
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